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Homework
Tell whether the expression is positive or negative without evaluating.
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Are you ready for a challenge?

Solve the problems.

@ Imamu pays $30 each month for his gym membership.

How many monlhs
] . . , :
What s the changea in the amount of monay in fus A P

dccount alter z’ of a yrar?

A $120 C 5270

B $240 D $360

Bob chose A as the correct answer. How did he get that

answeer?

Trovon, L 2ah, and Beth are playing a computer game
Will Leah’s score be

2
Irovon scored 8 Boeth's score was [ ol frevon's score s )
4 ’ positive or negative:

and | eah’s score was ; of Beth’s score. What was [ eah’s

score?

A C
3 3

B 7 D J/

EJ Paula cut nbbon from a spool for 3 craft project. Each S

i ¢ of nbbon changed the lengih of the nbbon -‘ Con Writing beth
avmbery ay either

remaning on the spool by 1.7 fest. When Paula fractions or decimals

1
finishrd, the length of ribbon on the spoot had changed i‘k help )’”?

by 0} feet How many pieces of nibbon did Paula cut? fanill'e:

Show your work.

Soluhbon



€3 Evaluate the products,

a. 4 X 3 3
8! b. ( 1) X g

3

= How (-an you use the rules for multiplying positive and
negative numbers to check that your answers to
problem 4 have the correct sign?

ﬁ A deep sea diver changes his position relative to the
surface of the water by g meters per minute. Write and
evaluate an expression to show his position after

3 minutes if he starts at the surface of the water.

ﬁ Fvaluate the products. Write your answers in simplest form.

4 5. \ 2
s - X = 1 =
a5l og , S 10077

2
The amount of shore at a local beach changes an average of foot
. 4

each year. What is the change in the amount of shore alier 7 years?

A 5 A feot
B ' foot
28
C > foot
o3
D 5 1 feot

Rashad chose C as the correct answer. How did he gel that answer?

1he temperature at noon is 0°C. Lhe temperalure changes by ;(. every hour for 4 hours.

Write an expression to represent this situation. What is the temperature at 4:00 a0?



Multiply and Divide Decimals
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Problem Solving
s

his cav for 543.20

did he get

C. Hows many galons of gas

7. You have $73 to spend on daffedil bulb 8. Brendatwants tomake 1690 pho ccopies
Boues of bulbs cost $13.85 per box that each co31 50.045. Whatis her total
mchiding ta. How many voxes canyou before ta
L\l»‘, .

9, Gascosts £2.88 vergallon, adberzilledup | 10 :Ake: 1.8 vards of fabric to cover cne

letin board. Ms. Loom wants 1o cover 5
etin boards and wse an additional 2.7
faoric H

'n.
tas
o cover an old chair. How

¢ vill Ms. Loom need altogether?

Yal fi o
much fabn




